Program Name B.Sc/B.A (Mathematics)
B.Sc./B.A. Part |1

Paper Code — MT- 05 (Differential Equations)

Section — B

(Short Answer Questions &g SR a1t w4)
Tedeh U 6 37k T & Each Question Carries 6 Marks

(1) Solve : (& hIfSTT) (Ans. MT-05, Pg.17)

D
dx  V1-xZ

) Solve: (B HIfST) (Ans. MT-05, P.05)

3y? Z—z + 2xy3 = dxe ™’

(3) Solve : (8 hIfSTT) (Ans. MT-05, p.60)
@+2y) L=y

(4) Solve: (8 hIfSTT) (Ans. MT-05, p.88)
x%p? + xyp —6y% =0

(5) Solve : (B hINTT) (Ans. MT-05, p.105)
cosy.sinpx — cospx.siny —p =0

(6) Solve : (B hiSTT) (Ans. MT-05, p.135)
(D*-81)y =0

(7) Solve : (B hISTT) (Ans. MT-05, p.155)
(D? + 1)y = secx

(8) Solve : (B FhISTT) (Ans. MT-05, p.198)
dx _dy _dz
yz zX xy

(9) Solve : (8 hISTT) (Ans. MT-05, Pg.20)
(y—yx)dx + (x +xy)dy =0

(10) Solve: (8T 1T (Ans. MT-05, P.45-46)
2 +Ljogy =2 (logy)?

(11) Solve : (B HITSTT) (Ans. MT-05, p.59)

1+ yx)xdy+ (1 —yx)ydx =0

(6)

(6)

Q)

(6)

(6)

(6)

(6)

(6)

(6)

(6)

(6)



(11) Solve: (B ShIfST) (Ans. MT-05
y—2xp—f(xp*) =0

(12) Solve : (B HIfSTT) (Ans. MT-05
-—p)p-D=p

(13) Solve : (B HIfSTT) (Ans. MT-05
d?y 3dy _
w0

(14) Solve : (B HIfSTT) (Ans. MT-05
2d%y dy . 2
— T 3x—+5y= 5(logx)

(15) Solve : (Eaaﬁ'%‘l"'{) (Ans. MT-05
dx _dy _ _ dx
1~ -2 3x2sin(y+2x)

(16) Solve : (B HIfSTT) (Ans. MT-05
xdy — ydx = /(x? + y? dx

(17)Solve: (& ShIfSTT) (Ans. MT-05, P.49)
2(1 - xy) =2

(18) Solve : @aﬁm (Ans. MT-05
(x3 + xy*) dx + 2y3dy = 0

(19) Solve: (8 hIfSTT) (Ans. MT-05
p* + 2xp® — y*p® — 2xy’p =0

(20) Solve : (8 hIfNTT) (Ans. MT-05
p’(x—a)=y+(@y—-x)p

(21) Solve : (B hIfTT) (Ans. MT-05
(D3 —6D%?+ 11D —6)y =0

(22) Solve : (8 hHISTT) (Ans. MT-05

28 _ 4 dy — 952

x“ 5 = 3x——+4y =2x

(23) Solve : (8 hIfNTT) (Ans. MT-05

dx _ dy _  dz

mz—ny T onx—lz ly —mx

(24) Solve : (8 ShHINTT) (Ans. MT-05
2x(ye*’ — 1)dx + e* =0

(25) Solve: (B hITTT) (Ans. MT-05

(4x + 6y + 3)dx = (6x + 9y + 2)dx
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(26) Solve : (8T ﬁﬁﬂ) (Ans. MT-05
2xy3—;+(2y+1—x2) =0

(27) Solve: (8 HINTT) (Ans. MT-05

p? + 2py cotx = y?

(28) Find complete solution & singular solution.

ot et 1 ot &t & oo et i shifsre—
p2x?+ x+y)py+y2=0

(29)Solve : (8 hISTT) (Ans. MT-05
(D*+2D3+3D?+2D + 1)y =0

(30)Solve : (B hHISTT) (Ans. MT-05
(D? — 2D + 5)y = e** sinx

(31)Solve : (B hHISTT) (Ans. MT-05
y*p —xyq = x(z = 2y)

(32)Solve : (B hHISTT) (Ans. MT-05

dy _¥ —
it (logy —logx + 1)

(33)Solve: (8 =hHISTT) (Ans. MT-05, P.26)

dy | (-y-2) _
dx (x—2y-3)

(34) Solve : (B hITST) (Ans. MT-05

d 2
S _y ¥

dx x  x2
(35) Solve: (B ST (Ans. MT-05
x2p? = 2xyp +2y2 — x> =0

(36) Find complete solution & singular solution.

o wrefieraor oht ot et o e et s AifsTe—
(a® — x*)p® + 2xyp + (b* —y*) = 0
(37) Solve : (B hISTT) (Ans. MT-05
A*y s
dx4+M y=0
(38) Solve : (8 ShISTT) (Ans. MT-05

(D? = 2D + 1)y = xe* sinx
(39) Solve : (& ShISTT) (Ans. MT-05

»P-39)

» -80)

(Ans. MT-05, p.112)

,p.133)

,p.150)

,p.330)

, Pg.70)

, p42)

,p-79)

(Ans. MT-05, p.113)

,p.133)

,p.152)

,p.330)



2
¥P+xzq = y?

(40) Solve : (8 FhfNTT) (Ans. MT-05, Pg.67)
(x*e* — 2my?x)dx + 2mx%ydy = 0

(41) Solve: (8 hIfSTT) (Ans. MT-05, P.30)
d_y _x+y—1
dx x+y+1

(42) Solve : (B HITST) (Ans. MT-05, p.39)

dy _
xlogx;+y = 2logx

(43)Solve: (8 hISTT) (Ans. MT-05, p.81)
xy?(p® +2) = 2py® +x°

(44)Find complete solution & singular solution. (Ans. MT-05, p.111)
Tt wreftertor sh1 ol et o farfrer gt i Shifore—
4xp? = (3x — a)?

(45) Solve : (8 hISTT) (Ans. MT-05, p.135)
(D2 +6D +4)y=0

(46) Solve : (8 hISTT) (Ans. MT-05, p.149)
(D? —2D + 1) = x%e3*

(47) Solve : (8 hIfSTT) (Ans. MT-05, p.332)
xp(x+y) +z(x = y)g = x* +y°

(48) Solve : (B ShHISTT) (Ans. MT-05, Pg.336)
(z+eX)p+(z+e¥)g=2z2—e*"

(49) Solve: (8 hIfSTT) (Ans. MT-05, P.405)
9%z _ 9%z

—_— = — = x —_—
ox?  dy? y
(50) Solve : (& shifSTT) (Ans. MT-05, p.222)

4 d*y 200 1\ .3
x"—+x (x 1)dx+xy—x4

(51)Solve: (B hISTT) (Ans. MT-05, p.201)
dx _ dy _ dx
x(y2+z)  —y(x24z)  z(x2—y?)

(52) Solve : (8 ThISTT) (Ans. MT-05, p.168)



(x2D? + xD + 1)y = logx. siniflogx)

(53)Solve : (8 hIfSTT) (Ans. MT-05, p.148)
d3y dzy dy _ 9y 2
s tT2 7t -=e” txt+x

(55) Obtain that integral surface of given equation in which the curve Xy = X + y,Z = 1 si present.
(Ans. MT-05, p.345)

THl. (31 g3) T I8 GHIHA I8 J1d shiog S ash xy = x +y,z = 1 @M 2
x*pty’q = —z*
(56)Find integrating factor to make the given equation exact and solve:

T3 Tt BT areimef ST o FoTT EeTehet TUTToh T U 3 & | (Ans. MT-03, p.225)
dy/dx+—y ==

X



